Chapter 3: Lesson 4: Dividing Decimals by Whole Numbers 

Name: _________________________________

5 Ways to show division: 

   quotient 

dividend(in) divided BY divisor(out)
divisor(out) divided INTO divided(in)
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dividend(in) [image: image4.png]


 divisor(out) = quotient
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To keep your long division steps in order, remember the basic family…
DAD: Divide the divisor into the dividend
MOM: Multiply the divisor by the factor you are about to put into your quotient
SISTER: Subtract the product from the dividend/difference

BROTHER: Bring down the next digit in your problem
CAT: Compare your new difference with the divisor to make sure it is smaller. If the difference is larger than the divisor, then increase the last digit in your quotient by one.
There are NO REMAINDERS in middle school ( Put a DECIMAL POINT AND A ZERO AND KEEP DIVIDING! 

The directions will tell you what place value to round to. If they do not, round to the thousandths place (3 places). 

Let’s Practice (
1. 24 [image: image8.png]


 9 =

2. 1402.52 [image: image10.png]


 7 =

3. 12.906 [image: image12.png]


 3 =
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 5 = 
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 6 = 

Chapter 3: Lesson 5: Dividing Decimals by Decimals





You can never have a decimal point as your divisor (outside the division sign).
1. Bounce the outside decimal all the way to the right to make the divisor a whole number

2. Count up the number of places you bounced outside the house

3. Bounce the inside decimal as many times as you did the outside.

· If you do not have a decimal point, add one to the end (to the right) of the number

· If you do not have enough places, then add zeros to the end of a decimal to make more places
4. After the decimal point has been bounced in both places, divide as usual. 
Let’s Practice! (
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 1.62 =
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 0.007 =
